RESOLUTION _ 2019 - 38

PURCHASE OF EQUIPMENT FOR CITY OF MARIETTA

WHEREAS, the purchase of equipment, materials and supplies is necessary to perform the duties relative to the functions lawfully imposed upon or assumed by the City of Marietta; WHEREAS, the following equipment is needed to allow for the performance of the above described duties/functions: FMERGENCY EQUIPMENT FOR POLICE VEHICLE; WHEREAS, in accordance with Section 2-172 of the Code of Ordinances, the following competitive bids for the purchase were submitted: EMERGENCY EQUIPMENT PRIORITY PUBLIC SAFETY \$12,076.03 EMERGENCY EQUIPMENT DEFENDER SUPPLY 9 11,640.00 EMERGENCY FOUIPMENT CHICKASAW COMMUNICATIONS \$14,028.00; WHEREAS, staff recommend the purchase of equipment as submitted by DEFENDER SUPPLY , based upon the following justification: LPFRIOR WORKMANSHIP AND SUPPORT ON PREVIOUS RUJECTS WHEREAS, funding is available to provide for this expenditure within the budget of the current fiscal year, under the following department/account: 01 - 75 - 800 WITH AMENDMENT FOR SALE OF SURPLUS VEHICLE; NOW, THEREFORE, BE IT RESOLVED by the City Council of the City of Marietta: 1. The purchase of EMERGENCY EQUIPMENT as submitted by DEFENDER SUPPLY is hereby approved and authorized based on: the recommendation of staff as previously indicated.

□ the following: _____

2. The expenditure for the purchase will be do OI-75-800 · POUCE · CAPITE AMENDMENT FOR SALE	
PASSED BY THE CITY COUNCIL a	and signed by the Mayor thisday of
ATTEST OF MAR DOTTIE GWIN, CITY CLERK	CITY OF MARIETTA KIMBERLY FRAIRE, MAYOR

659 Martin Duke Road Van Alstyne, TX 75495 (903)482-9357 hkirby@prioritypublicsafety.net



Estimate

ADDRESS

Marietta Police Department 101 W. Main St. Marietta, OK 73448 SHIP TO

Marietta Police Department 101 W. Main St. Marietta, OK 73448 **ESTIMATE #** 4209

DATE 10/28/2019 **EXPIRATION DATE** 11/28/2019

REP

HK

ACTIVITY	QTY	RATE	AMOUNT	
WE-GB8SP3J Whelen Legacy Lightbar Red/White Driver Front, Blue/White Passenger Front, Red/Amber Driver Rear, Blue/Amber Passenger Rear	1	2,550.00	2,550.00	
WE-CCSRN3 Whelen Saphire Cencom control head	1	0.00	0.00	
WE-SAK1 Whelen Universal L Speaker bracket	1	0.00	0.00	
WE-MKEZ82 Whelen MKEZ82 stap kit	1	0.00	0.00	
WE-SA315P Whelen 100 Watt Speaker	1	0.00	0.00	
GJ-7170-0137-01 Gamber Johnson Dodge Charger Police Package (2011+) console box, cup holder and armrest kit Faceplates for Whelen Cencom, Vertex 2200 Dash Mount Radio, Motorola APX4500 One Piece radio	1	450.58	450.58	
SL-20702 Streamlight 20L	1	205.98	205.98	
GI-38027 Go Industries Center Section Push Bumper for Dodge Charger	1	270.00	270.00	
WE-M4BC Whelen M4 LED Light- Blue, clear lens	1	126.90	126.90	
WE-M4RC Whelen M4 LED Light Red, clear lens	1	126.90	126.90	
GI-PUR014 Go Industries "L" Bracket	2	14.99	29.98	
WE-M4J Whelen M4J Red/Blue Split Linear Super led surface	2	157.95	315.90	
GI-PUR013 Go Industries Angle Bracket for Side of Push Bumper	2	15.50	31.00	

Unused item refund or exchange within 14 days. Receipt and original packaging required. EXCEPT special order items, these cannot be returned. | Like us on Facebook! | Used items no returns.

Labor to install listed equipment and customer supplied radios	55	33.00	1,020.00
Custom Wiring Harness made to order LABOR	35	55.00	1,925.00
Shop supplies, misc. connectors, tape, lime, nuts, bolts WIRE-HAR	1	125.00	125.00
SHOP SUPPLIES	1	100.00	100.00
Shipping and Handling Shipping and Handling	1	225.00	225.00
Fee Detailing of vehicle - professional clean and make-ready	1	150.00	150.00
SHOP SUPPLIES Power Distribution Block	1	75.00	75.00
HAV-CG-X Havis Shield Charge Guard Auto Shut off Timer	1	72.00	72.00
SHOP SUPPLIES Radio antenna and coax cable with connector	2	75.00	150.00
SHOP SUPPLIES Radar clamp mount for Dodge Charger - Stalker	1	125.00	125.00
ST-DUAL-SL Stalker Dual SL Directional Radar	1	2,250.00	2,250.00
SET-GK10342UHKSSCAXL Setina Dual T-Rail Mount 2 Universal XL , Handcuff Key Override	1	425.00	425.00
LABOR Labor to disable rear door window switches, door locks and door handles	2	55.00	110.00
Pro-Gard Single Compartment, Pro-Cell, Partition with full roll bar and Passenger Side Only Outboard Seat Belts Includes: Partition, Transport Seat, Floor Pan, Pair Rear Door Panels, Pair Window Bars, Lower Extension Panel(s), Poly Center Divider, & Outboard Seat Belts	·	1,000.00	1,555.55
WE-IONBKT1 Whelen ION License plate bracket PG-P1500C15AOSB	1	25.79 1,995.00	25.79 1,995.00
WE-WIONJ Whelen LED ION Light Red/Blue Split	2	108.00	216.00
ACTIVITY	QTY	RATE	AMOUNT

Accepted By

Thank you for doing business with us.

Accepted Date

\$12,076.03

TOTAL



Date	9/17/2019
	Mike Hewitt
Estimate	mike@defendersupply.com
By	(903) 564-5641



	Bill To	
Marietta PD		
Chief Dustin Scott		
101 W Main St		
Marietta OK 73448		

Customer Contact	
Customer Phone	
Customer E-mail	dustin.scott@mariet
Estimate #	26328

Description	Location	Qty.	Cost	Vehicle and Em
Dodge Charger				
Whelen 48" Legacy® DUO+™ Color Series Super-LED® Light Bar with Take Downs, Alleys Lights with Red/White/Blue/White Front		1	1,769.00	1,769.00
Configuration and Red/Amber/Blue/Amber Rear Configuration. Whelen Cencom Sapphire Siren System with 3-Position Slide Switch, 18 Push Button Control Head and included PA Microphone.		1	810.00	810.00
Whelen 100 Watt All Weather Heavy Duty Composite Siren Speaker	and the second s	1	179.00	179.00
Whelen Universal "L" Shape Siren Speaker Bracket		1	24.00	24.00
Strap kit for 2013 Ford Inteceptor - Sedan and SUV Whelen Legacy 48" LED Light Bar Package w/ Whelen Siren, Siren Speaker, Bracket & Strap Kits. Light Bar includes Take Downs, Alley Lights with Red/White/Blue/White Front Configuration & Red/Amber/Blue/Amber Rear Configuration.		1	59.00	59.00 2,841.00
Disable Rear Door Window Switches, Door Locks and Door Handles - Tahoe			145.00	145.00
14" dash-mount console (7" sloped space + 7" level space) w/ floor plate, arm rest, mic clips and cup holder				436.00
VERTEX 2200 (DASH MOUNT) Radio				
SL-20XP® LED Rechargeable Flashlight		1	89.00	89.00
Go Industries Push Bumper, 2016+ Dodge Charger		1	269.00	269.00
Whelen M4 Series LED Light – Red w/Clear Lens	Push Bumper-Front Facing	1	104.00	104.00
Whelen M4 Series LED Light – Blue w/Clear Lens	Push Bumper-Front Facing	1	104.00	104.00
Forward Facing Steel Bracket for an Whelen M4 Light (each)		2	12.00	24.00
Whelen M4J Series Split Head Red/Blue 45 degree mounting bracket for Whelen M4 lighting	Push Bumper-45 Angle	2 2	111.00 6.00	222.00 12.00
Whelen ION™ Series LED, Red with Universal Clip Mounts	Rear License Plate	1	89.00	89.00
Whelen ION™ Series LED, Blue with Universal Clip Mounts	Rear License Plate	1	89.00	89.00
Whelen ION™ License Plate Bracket		1	19.00	19.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered

Total Vehicle Order Cost

Page 1

SIGNATURE



Date	9/17/2019
T	Mike Hewitt
Estimate	mike@defendersupply.com
Ву	(903) 564-5641



	Bill To	
Marietta PD		
Chief Dustin Scott		
101 W Main St		
Marietta OK 73448		

Customer Contact	
Customer Phone	
Customer E-mail	dustin.scott@mariet
Estimate #	26328

Description	Location	Qty.	Cost	Vehicle and Em
Pro-Cell 1/2 Prisoner Cell. With Full Roll Bar and Outside Seat Belts - Charger		1	1,529.00	1,529.00
Includes: ½ or Full Partition; Transport Seat & Floor Pan; Pair Rear Door Panels; Pair Window Armor Lower Extension Panel(s);Poly Divider; Outboard Seat Belts				
Setina Dual T-Rail Weapon Lock with Timer & Adjustable Handcuff Adjustable Locks - Designed to fit a Wide Variety of Long Weapons & to be mounted on Recessed Partition				349.00
Stalker Dual SL - "Ka" Band - Front & Rear Antenna Moving Radar Unit with Automatic Same Direction Operation		1	2,190.00	2,190.00
Stalker Radar Clamp Mount Kit for Control Unit Display & Antenna for 2015+ Dodge Charger		1	59.00	59.00
Two Way 800 MHZ Radio Antenna & Coax Cable				44.00
Professional cleaning, detailing, and make-ready by Defender Supply.				201.00
Shipping of Above Emergency Parts for Upfit		1	76.00	76.00
Misc, Shop Supplies		1	44.00	44.00
Defender Supply wiring harness, Top Hat Timer and Blue Sea power distribution block				425.00
Installation of Above Equipment		1	2,280.00	2,280.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total	\$11,640.00
Quantity Ordered	

Total Vehicle Order Cost

Page 2

SIGNATURE _____

Phickasaw

PERSONAL COMMUNICATIONS

MOTOROLA SOLUTIONS

1505 W. Broadway, Ardmore

Phone (580)223-5162 (580)622-2808 4201 Classen Circle

(405)321-5210 (405)670-2541

717 S. Dewey, Oklahoma City (405)677-5382 (405)670-2541

KENWOOD Listen to the Future

COMMUNICATIONS SYSTEM PROPOSAL

TO:

CITY OF MARIETTA **DUSTIN SCOTT** 101 W. Main Street Marietta, OK 73448

Office: 580-276-5569

Prepared By:

Joel Roach 1505 W Broadway Ardmore, OK 73401 580/223-5162 Fax 580/622-2808 jroach@chickasawpersonal.com

DATE:

10-29-19

Radio Solutions Channel Partner

PROPOSAL #:

QTY	PART #		PRICE	EXTENSION
1	INTG44	Federal Integrity 44" Lightbar R/W B/W Front - R/A/B Rea	\$1,550.00	\$1,550.00
1	PF200S17	Federal Pathfinder Siren Light Control	\$1,435.00	\$1,435.00
1	ES100	Federal Dynamax 100w Speaker	\$215.00	\$215.00
1	ESB2-CHGR1	Federal Speaker Bracket (20 CHARGER)	\$40.00	\$40.00
1	425-6636	JOTTO Equipment Console (20 CHARGER)	\$433.00	\$433.00
1	425-6411	JOTTO Adjustable Armrest Floor Plate Mount	\$116.00	\$116.00
1	20703	StreamLight SL-20XP® LED Rch. Flashlight 480V82	\$222.00	\$222.00
1	GOP5077	Go Rhino Push Bumber (20 Charger)	\$320.00	\$320.00
2	MPS1220U	Micro Pulse 12 Led R/W B/W clear lens (opt. Flood)	\$141.00	\$282.00
2	MPSM12-LB	Micro Pulse front facing bracket	\$12.00	\$24.00
2	MPS1220U	Micro Pulse 12 LED R/B split clear lens	\$141.00	\$282.00
2	MPSM12-SB	Micro Pulse Angle bracket	\$15.00	\$30.00
2	MPS6U	Micro Pulse 6 LED Red Blue	\$90.00	\$180.00
1	IPX-LPH1	Federal License Plate Bracket	\$25.00	\$25.00
1	475-0184	JOTTO 1/2 Cell System for Dodge (20 Charger)	\$1,765.00	\$1,765.00
		Disable Rear Window Switches, Locks and Handles		
1	JOTTO MISC	JOTTO Driver Window Armor Door Panel	\$220.00	\$220.00
1	475-2047	JOTTO Dual Weapon, Single Cell Mounted	\$455.00	\$455.00
1	805-0022-00	Stalker Dual SL Package "Ka" Band	\$3,162.00	\$3,162.00
2	NMO150	NMO150 Radio Antenna Kit	\$62.00	\$124.00
1	445585	Bussman Fuse block	\$32.00	\$32.00
1	472446	Delay Timer, 75A	\$116.00	\$116.00
1	INST	Install kit (wire, fuses, loom etc)	\$150.00	\$150.00
NOTES: Installing Listed on a 2020 Dodge Charger.			EQUIPMENT	\$11,178.00
, ,			LABOR	\$2,500.00
			MILAGE	
			SHIPPING	\$350.00
			FCC LICENSE	
THIS PROPOSAL IS VALID FOR (30) DAYS FROM ABOVE DATE				772
Purchase order MUST be made out to Chickasaw Personal Communications			SUBTOTAL	\$14,028.00
Accepted by:		Date:	TAX	
Title:			TOTAL	\$14,028.00